APPROSSIMAZIONE

STUDENTE MEDIA (M)
MAGAGNINI 1,8
MAMPIERI ASSENTE
MANALO ASSENTE
MARACCHIONI 0,8
MARCELLI 1,2
MARSELLI ASSENTE
MARUCCIA ASSENTE
MARZI ASSENTE
MATRIGIANI 0,9
MAURIZI ASSENTE
MEDICI ASSENTE
MENTUCCIA ASSENTE
MICHELI 1,2
MILANI 1,6
MINCZUK 0,8
MINELLI 1,7
MISCOLI ASSENTE
MITOLA 1,3
MONTERQOSSO ASSENTE
MURRANCA ASSENTE
NAMPIERI ASSENTE
NARDINI 1,3
NARDONE 1,2
NERI ASSENTE
NICOSANTI 0,9
OLIVA 1,4
OLIVERA ASSENTE
ORGANTINI 1,6
PACE 1,8
PAGLIAROLI ASSENTE
PASQUALI 2
PASSERI 1,3
PATRICOLO 1,1
PATRIZI 2,1
PERILLA 1,2
PERRI 1,6
PERSICHILLI ASSENTE
PERTICONE ASSENTE
PIACENTINI ASSENTE
PICCOLO ASSENTE
PIGNALBERI ASSENTE
PILORUNO ASSENTE
PINTUS ASSENTE
PITTAU 0,1
PLACIDI 0,5
POMPA ASSENTE
POMPEI 0,5
PORCU ASSENTE
PRATESI 1,5
PRISCO 1,7
PROCOPIO 0,6
PROIETTI 1,4
QUARTA 0,6
QUATTRINI 2
REGA 1,4
RIMEDIO ASSENTE
RIVOLI 0,3
RONCHETTI ASSENTE




